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Exercise 1. Determine the value of the‘follovving limits. You're asked to write your answer in the following form:

Vvariable € appropriate neighborhood,
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expression given = expression that enables you to compute the limit 3 ZT) __value of limit (or DNE).
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Exercise 2. Let
f:R— R
z — cos(z) + 2.

Show that there exists zo € R such that f(zo) = z2.

(&\P %: ‘(R-——ﬁﬁL ;
N D aciatfm.)-(- -t
1 Con\«'nuou\vby v™ 0-? cgn\&vwau) -—Q,Ur\()n'on) on ﬂLz‘-’)‘)

3
g Now: %(O]: (22 -t = %<5
(tt)— — a9 = -(( Al l_—(['?— .0 \A.u) /&)rom go\)ar\

do r\\\"\o vy

r\Cc;C(-j

a3 Pheore..,

_B_AL&_e_LQ,_L,_s;&QLV\ =a  Yau,
:’lo

3 e clliGiw] A § Cxo)



